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Confidence Infervals: 2-Sample Proportions
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Follow the same 4 sieps as with one-sample:
STATE:
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We want fo estimate the difference p1 - p2 with ___ % confidence.

Random: The data must come from two independent random samples or from two groups in a
randomized experiment,

10% Condition: ¥}, < 10% of the population Qf\g V\[}\i'\)
ﬂ}_< 10% of the population

Large Counts: The distribution of 31 — P53 is approximately Normal if. ..
nyp; = 10
ngy = 10
n,p; = 10
n,q; = 10

State the test you are using: We will be using a 2-sample z-interval for a difference between
two proportions p1 - p2.

intade  the formula with the appropriate numbers to the
problem (then you can plug it into the calculator!).

Fi-p)tz ,ﬁ&m + %(33—)» = (lower value, upper value)
% 2

~ONCLUDE:

We are C% confident that the interval from [lower vaiue] to [upper value] captures the true
difference in the proportion of [what the situation is in context].



CALCULATOR USE:

Stats -> Tests > 2-PropZini K
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Example 1: Thirty-five people from a random somqfle of 125 workers from Company A admitted fo
using sick leave when they weren't really il. Seventeen employees from a random sample of 68 ~— ¥,
workers from Company B admitted that they had used sick leave when they weren't ill. Construct
and interpret a 95% confidence interval for the difference in the proportions of workers at the two
companies who would admit to using sick leave when they weren't really sick.
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Example 2: Mrs. Mapstone wantfed to determine if there were a difference in proportion of passing
scores between her classes and Mrs. DeMarre's classes since teaching at BHS. Mrs. Mapstone fook a
random sample of 125 students and Mrs. DeMarre took a random sampie of 53 students. Mrs.
Mapstone found that 102 of her students’ scores were passing and Mrs. DeMarre found that 43 of her

students’ scores were passing.

a} Construct and interpret a 90% confidence interval to determine the difference in proportions
between the scores of Mrs. Mapstone's classes and Mrs. DeMarre’s classes.
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